
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.036, page 244 
 
Remarks: See §4.4, pages 168 till 170 

See §4.5, pages 171 till 184 
See §4.6, pages 184 till 186 

 
Answers:  
 
a.  640 kNF =
b.  100 mme =
 
Explanation:  
 
a. From the stress diagram:  2

NC 4 N/mmσ = −

  3
NC 640 10  NN Aσ= = − ×

 
b. Working with absolute values: 
 Maximum bending stress:  26 N/mmσ =

 2 3 2 61 1 (400 mm) (6 N/mm ) 64 10  Nmm
6 6

M W bhσ σ= = = = ×  

 Eccentricity (location of point of application of the force F): 

 100 mmMe
N

= =  
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